

1. Observa el diagrama y expresa por extensión

$A = \{ \underline{\hspace{2cm}} \}$

$B = \{ \underline{\hspace{2cm}} \}$

$A \cup B = \{ \underline{\hspace{2cm}} \}$

$A \cap B = \{ \underline{\hspace{2cm}} \}$

$A - B = \{ \underline{\hspace{2cm}} \}$

$B - A = \{ \underline{\hspace{2cm}} \}$

Dados los conjuntos, halla

$A = \{ \underline{\hspace{2cm}} \}$

$A \cap B = \{ \underline{\hspace{2cm}} \}$

$C - B = \{ \underline{\hspace{2cm}} \}$

$B \cap C = \{ \underline{\hspace{2cm}} \}$

$A - B = \{ \underline{\hspace{2cm}} \}$